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Quiz I
1. DSL is:

a. A network technology used in traditional telephone networks to carry voice.
b. A network technology typically used to interconnect Internet Service Providers (ISPs). 

c. A network technology typically used to connect residential end systems to the internet.
d. None of the above

2. One difference between DSL and cable is:

a. DSL is used for carrying voice, whereas Cable is used for carrying video.
b. In cable, each end-system has its own physical connection to the central office, whereas, in DSL, end systems share the same physical connection.
c. Cable always offers better performance than DSL.
d. None of the above

3. Inside an Internet packet switch,
a. There are buffers that store data.
b. There is a forwarding table that stores routing information.
c. All of the above

d. None of the above

4. Which of the following is always true about packet switching?
a. It introduces packet loss and queueing delay.
b. Forwarding decisions are made on a per packet basis.
c. All of the above 

d. None of the above  
5. Compared to “Circuit Switching”, packet switching has the following advantage:

a. It makes more efficient use of network resources.
b. It always offers a better performance.
c. Both of the above.
d. None of the above

6. Which of the following is true about transmission delay?
a. It cannot be bigger than the propagation delay.
b. It can be bigger or smaller than propagation delay.
c. It is the same thing as propagation delay.
d. None of the above

7. Which of the following is not true about queueing delay?
a. Queueing delay is often accompanied by packet loss.
b. Queueing delay depends on the load offered to the network.
c. If the packet departure rate exceeds the packet arrival rate at a buffer, the queueing delay experienced by packets at the buffer is always 0. 
d. None of the above

8. Which of the following is true about the average throughput between two end-systems?
a. Average throughput is always higher if the network between the two end-systems uses packet switching than if it uses “circuit switching”
b. Assuming significant queueing delay throughout the network, average throughput is determined by the bottleneck link between the two end-systems
c. Average throughput is determined by the links that are closest to the two end-systems (because these are always the links with the smallest transmission rate)
d. Both (b) and (c)
9. What advantage does a circuit-switched network have over a packet-switched network?

a. It supports statistical multiplexing

b. It is better suited for transporting bursty data

c. It can guarantee a certain amount of end-to-end bandwidth

d. All of the above

10. Which of the following technologies enables transmission of data to a restricted subset of destination machines?
a. broadcast
b. pluricast
c. point-to-point
d. None of the above

11. “Traceroute” provides insight into which of the following parameters:
a. Packet loss
b. RTT delays
c. Throughput
d. None of the above

12. Which of the following is not a network protocol?

a. CSMA-CD

b. HTTP

c. TCP

d. None of the above

13. Which of the following is not true about SONET?
a. A SONET network is an example of an opaque optical network 
b. SONET chronologically precedes PDH
c. A SONET connection is considered as a virtual connection
d. Both (b) and (c)
14. Which is following is true about SDH?
a. SDH is extensively used in Europe
b. SDH is an international standard developed by the IETF
c. SDH was defined prior to SONET
d. None of the above

15. Which of the following is true about the propagation delay across a transmission link?
a. It depends only on the length of the link
b. It varies with time
c. It depends on the load offered to the network
d. None of the above

16. Which of the following technologies makes it possible to multiplex multiple wavelengths over the same optical fiber cable
a. SONET
b. T1/E1
c. Wavelength Division Multiplexing
d. Both (a) and (b)
17. Which of the following is an example of a packet-loss sensitive application?
a. Email
b. File transfer
c. Voice over IP
d. Both (a) and (b)
18. Which of the following is an example of a logical connection
a. Lightpath
b. ATM connection
c. TCP connection 
d. Both (b) and (c)
19. Which of the following is well suited for transporting real-time services
a. Packet switched network
b. Circuit switched network
c. Both of the above

d. None of the above

20. Which of the following uses FDM
a. SONET
b. PDH
c. ADSL
d. None of the above
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